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Differentiate:

1) 
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Find:
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7) 
Find the equation of the curve which passes through (2,-12) if  
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To find the area under a curve (between the curve and x 

axis) we use the definite integral
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x = 0 and x = 2 are called the LIMITS of the integral
Steps:
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   Anti-differentiate, putting in square brackets and 
   the limits

(leave out the integrating constant ‘C’)
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   The anti-derivative is the rule to find the area
   Substitute in the two limits and subtract 
     (Upper limit value – Lower limit value)
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Steps:
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 Anti-differentiate
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 Substitute in 4 and 1and subtract
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       minus                                 =

  ‘C’ cancelled
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Definite Integrals B




















“Find the area between the curve y = x2 + 2 and the x axis between x = 0 and x = 2”
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Definite Integrals A
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